Steady-State Groundwater Flow:

Single Well Pumping in Confined Aquifer — Thiem’s Equation

N 2N 7
Piezometric surface

Agquiclude

Aquifer mork

(T

rzF‘—rl\

. ZTTT(hZ - h’l)

= In(#,/r,)
Q <
= —h =-—=_
Sw H W 21TT IH(R/TW)
Example 9.7

Steady-State Drawdown in a Confined Aquifer

A 24-inch diameter well is installed in a confined aquifer using a 6
(rw = 1.5 ft). The aquifer has a transmissivity of 40,000 gpd/ft, and the well is pumped

at a rate of 2,000 gpm. If the radius of influence (R) of the well is 100,000 ft, deter-
mine the steady-state drawdown at the well.
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Steady-State Groundwater Flow:

Single Well Pumping in Unconfined Aquifer — Dupuit’s Equation
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Example 9.8

Steady-State Drawdown in an Unceonfined A quifer

A 12-inch diameter well is installed in an unconfined aquifer with a saturated thick-
ness of 100 ft. The aquifer has a transmissivity of 40,000 gpd/ft, and the well is pumped
at a rate of 600 gpm. If the radius of influence (R) of the well is 4,000 ft, determine

the steady-state drawdown at the well.
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Sw=hy — h, = 382 ft

For comparison, the computed drawdown using the confined aquifer equation is
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